BC-12
December — Examination 2023

B.Com. (Part II) Examination

Elements of Financial Management
Paper : BC-12

Time : 3 Hours | [ Maximum Marks : 70

Note .— The question paper is divided into three Sections
A, B and C. Write answers as per the given
instructions.
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Section—-A 7x2=14
(Very Short Answer Type Questions)

Note .— Answer all questions. As per the nature of the
question delimit your answer in one word, one
sentence or maximum up to 30 words. Each

question carries 2 marks.
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What do you mean by Capital Budgeting ?
Yot SISfe | AT M TR § 2

What are Financial Statements ?
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What is Liquidity Ratio ?
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What is meant by Variable Working Capital ?
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What is Trading on Equity ?
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What do you understand by Green Clause
Credit ?
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(vii) What are Cumulative Preference Shares ?
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Section-B 4x7=28

(Short Answer Type Questions)

Note -— Answer any four questions. Each answer should not

exceed 200 words. Each question carries 7 marks.
Qg —d

(g ITT u9)

feor - fo=l 9R 9ol & S SifSu) 39 ST SR I

sfaeram 200 g H UfiEifgg *ifST gdw 99
7 3k H Bl

. What do you understand by Financial Statements ?

How many parts does it have ? Describe.
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. From the following data calculate :

(1) Debt Equity Ratio

(i1)) Solvency Ratio
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Balance Sheet

Liabilities 4 Assets 4

Paid-up Capital | 10,00,000 [ Fixed Assets
Reserves and less Dep. 21,98,100
Surplus 8,45,000 | Stock 4,94,600
Debentures 10,00,000 | Trade Debtors 1,17,100
Bills Payable 65,000 | Cash at Bank 2,60,200
Creditors 160,000

30,70,000 | 30,70,000
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. What elements should be kept in mind while

making financial planning of an industrial

organization ?
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. The ratio of variable cost to sales is 60%. The

break-even point occurs at 80% of sales. Fixed costs
are ¥ 2 lac. Find sales capacity and the sales at
break-even point. Also find profit at 90% and
100% sales capacity.
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. Review Walter’s formula related to Dividend Policy.
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. What 1s the need and importance of Capital

Budgeting ?
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. What are the determinants of Trade Credit ?
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. What are the merits and limitations of PERT and

CPM ?
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Section-C 2x14=28
(Long Answer Type Questions)
Note .— Answer any two questions. You have to delimit
your each answer maximum up to 500 words.
Each question carries 14 marks.
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10. Discuss the functions of Financial Management.
forfa yay & & W == S

11. Define the Fund Flow Statement and prepare a
schedule of change in working capital and draft
of fund flow statement.
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12. Explain the Baumol Model and Miller Orr Model

for finding optimal working cash balance.

ST wERa e W fuRe & fau s
gfeaH we faer &t o w9emsu |

BC-12/7 (6) TC-547



13. Shrinath Enterprise requires 90,000 units of a
certain item annually. The cost per unit is T 3 the
cost per purchase order is ¥ 300 and the inventory
carrying cost is ¥ 6 per unit for year.

(1) What is Economic Order Quantity ?
(i1)) What should the firm do, if the supplier
offers discount as below :
Order Quantity Discount (%)
4500-5999 2
6000 and above 3
sfie SUeTHTESrSl T faRT™ w8 #Y 90,000 SHTEA aftish
et ®1 9fd swE @ % 3 ufd wE ey @A
¥ 300 9 Y @A H AR UfA $HE I AN T 6
gl
() onfdew SR HET FN T ?
(i) =M @ FN wE AU, Al fdwar A= fe
T Sgl YEed il ©

TSI AT gt (%)
4500-5999 2
6000 & 3Ty 3

BC-12/7 (7)) TC=-5647



